= o
A & 0l & AF 2 E A A
20138 S0la Lo nSAFW ~ nSHF
A REWEDY
N dUDESS B
gl Hsns = (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
nSHF 9,917,287 8,413,099 1,504,188
= 283,000
& 1,635,000
=2 10,000
< 631,030
Al 7,358,257
NS 2s & 9,707,976 8,229,491 1,478,485
= 283,000
& 1,635,000
&2 10,000
< 631,030
Al 7,148,946
thasws =i 4,367,540 4,264,718 102,822
= 326,330
Al 4,041,210
H=sws XA 59,083 49,502 9,581
101 @124 dl 10,083 9,502 581
04 JIZHHZ2Z2XNESE S+ 10,083 9,502 581
WMUSSEA(SEHA, U2 S) 10,083
(OFCIE 3= 39,2603 x12% «102 23] 9,423
o8 - MUMEE= 9,422,400% *7% 660
201 24l 7,000 7,000 0
01 At 22l 7,000 7,000 0
mBt~=ZH] 7,000
OHALHEE HH 35,0003 200 7,000
203 YR =&l 2,000 2,000 0
03 Al F=XH R =AH| 2,000 2,000 0
milswsE d&s =2 40,000 =5 103 2,000
207 Aol 30,000 21,000 9,000
01 2339 30,000 21,000 9,000
WAIUHA S48 E&E 2S30 29
30,000, 000& 30,000
307 glz2+ol & 10,000 0 10,000
09 2+HAHEEXS 10,000 0 10,000
WSIHE HEI| FAE= 10,000, 000& 10,000
FIIHEEXS 1,700,000 1,700,000 0
307 21201 A 1,700,000 1,700,000 0
09 2+FAHEXS 1,700,000 1,700,000 0
WA SHEXS A& 1,700,000, 000& 1,700,000
A2 29 3,640 2,800 840
201 Let249y| 3,640 2,800 840




SN DEHEDY
A MM S23 ZF
22 Hsns =i (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 At 22l 3,640 2,800 840
2d=E 3,640
ONMANLNSAXN0IsHYSEARASE /AJ 3
o 4 ¢ 70,0003 x6H #23] 840
ONMAHNESDEY NS 2AY 3]0 &A
=g 70,0003 «11H %23 1,540
OHMAMNDSAHEEMARARZ IS 32
e 70,0002 5% +23] 700
OTMOIEHAI B AA RS A 5lo B &
g 70,0003 x8H *13] 560
HAEEAAREIS 194,532 152,906 41,626
201 Let24d] 179,532 152,906 26,626
01 At 22l 5,000 0 5,000
(w2 Bt~ Z H| 5,000
OHA AUYE =S(F0, B20f)
2,500,000& »23| 5,000
02 =224l 174,532 152,906 21,626
m=322=3 % HA 74,532
OHAZEEAAH FIAH0E MEZ
2,147,000& x12& 25,764
O COMA E41 = 1,452,000 128 17,424
OHAZEEAAE ARSAHEZE  145,0002 128 1,740
OBIT 2IHY AMEZ 2,114,000& 123 25,368
OBIT &I AMEZ 353,000& 128 4,236
WAl & ZHl =X bl 100,000
OWHAZEZOHHII(BIT) OI&HI 5,000,000 5,000
OHAZEEBANAH SXNE= 95,000
OLZEYH SN+ 15,000,000& 15,000
OAHI(JI&X) 35,000,000 35,000
OMZHl & Jl= 35,000,000& 35,000
O ItAl(10%) 10,000, 000& 10,000
207 RO 15,000 0 15,000
02 & AHIH I 15,000 0 15,000
mBIS 28t ZHOIX = 15,000, 000& 15,000
HALd A4 214,525 242,824 A28,299
< 56,339
Al 158,186
307 Qiz2tol & 214,525 242,824 A28,299
= 56,339
Al 158,186
09 2HAHAEXS 214,525 242,824 A28,299
WHEI-Sd 2ABA8E 214,525,000& 214,525
< 56,339




2N

nEdHd
Hu: HADSSs M
S9l: SRS =0 (S &2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
| Al 158, 186
Hdes &AEN 1,000,000 600,000 400,000
= 218,111
Al 781,889
307 2iz2to| & 1,000,000 600,000 400,000
& 218,111
Al 781,889
09 2LHAHEX2 1,000,000 600,000 400,000
mH=2Aq-d HX L stAEol X3
1,000,000, 000& 1,000,000
= 218,111
Al 781,889
AL A CH Tl XF 100,000 40,000 60,000
= 50,000
Al 50,000
402 SI2F X201 M 100,000 40,000 60,000
= 50,000
Al 50,000
01 QI2t X2 X 100,000 40,000 60,000
W AILHEH A CHE XEAFS (10TH) 100,000,000 100,000
= 50,000
Al 50,000
HIENd WESEXA 6,216 6,216 0
& 1,880
Al 4,336
101 2121 4| 6,216 6,216 0
& 1,880
Al 4,336
04 JIZtHIZ22XNEE 6,216 6,216 0
mMUSFZAH(EX=A) 6,216,000& 6,216
&< 1,880
Al 4,336
WEEAEE 13,000 13,000 0
307 212t0| & 13,000 13,000 0
03 Al X2 13,000 13,000 0
W(ANHMIZYEH2E IS 8= I
10,000,000& 10,000
m=sMyHLIS &= XS 3,000,000& 3,000
nNERYREHZ 16,544 17,470 N\ 926
101 Q124 H| 15,544 15,470 74
04 JI2ZtHIZ2 2 NEES 15,544 15,470 74
mNERUEEZ AE= XA 15,544
oo 39,2603 x5H 60 11,778
(OESE=E=2C gy 39,2603 x5H x 12 2,356




2N

X{ XH -
S =

SEE B! 7lEE)
- _ _ RE]
M- o9 (B H) - MEAY - BAS %Eﬁ HR=2
(OF=PNEsa=F=" Ei=, 39,2603 x5 x2 393
oine MESE S 14,526,200 7% 1,017
201 LBt 4d9H 1,000 1,000 0
01 AL 22| 1,000 1,000 0
[m] 2 BE2 1,000
(©OF=3= =0 9 XN HE 1,000,000 1,000
[ 29HA WS 370,000 370,000 0
307 2Iz2t0| & 370,000 370,000 0
2= A H = 370,000 370,000 0
mX & ZEAHA EX& 370,000
O Al LH HH 320,000,000& 320,000
o0t 29HA 50,000,000 50,000
sgoldE==2 X 370,000 370,000 0
307 2iz2to| & 370,000 370,000 0
SLEHAHEXZ2 370,000 370,000 0
mE=yl: solasza 370,000, 000& 370,000
&t =2 & 320,000 320,000 0
307 gizto| A 320,000 320,000 0
2= H = 320,000 320,000 0
S22 320,000,000& 320,000
INERLREI =N , 786,685 ,275,300 511,385
2 248,000
= 10,000
< 255,000
Al 273,685
A olsd# S & ,050,685 600,500 450,185
= 10,000
o=} 95,000
Al 945,685
12+01 & 860,685 600,500 260, 185
= 10,000
Al 850,685
12t & =2 860,685 600,500 260, 185
mMEHNSHH(NEAUX ZEA) FE 29 (21
) 860,685,000 860,685
= 10,000
Al 850,685
AF S H| 190,000 0 190,000
= 95,000
Al 95,000
MUSEFSH| 190,000 0 190,000




A REWEDY
Hu: MUDESS M
SRl MSOK HOSH EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
WEEDS+SH(RSAA 2LA) 2 (50)
190,000,000 190,000
= 95,000
Al 95,000
MaHA el 496,000 394,800 101,200
= 248,000
= 124,000
Al 124,000
402 SI2v X201 & 496,000 394,800 101,200
= 248,000
= 124,000
Al 124,000
01 QX228 X 496,000 394,800 101,200
m A A Rl(50H) 496,000,000& 496,000
= 248,000
= 124,000
Al 124,000
MNAHA 2H&=AZ 240,000 280,000 A 40,000
& 36,000
Al 204,000
307 QI2t0| ™ 240,000 280,000 A 40,000
= 36,000
Al 204,000
09 2£HHEXZ 240,000 280,000 A 40,000
mHAHA 29 =AZAZ2(120)
240,000,000& 240,000
o 36,000
Al 204,000
NEHH N 2,195,811 1,208,673 987,138
= 35,000
2 1,635,000
= 49,700
Al 476,111
AHEEF L 22 38,400 41,400 A 3,000
201 et | 31,600 34,400 A 2,800
01 AP 2t 2] H| 27,000 27,000 0
m] 2Bt~ 2 H] 27,000
OXNSXANHSES M 280 30, 0000H 8,400
OXNESXNSEZ HIEHOA HME
1502 20, 0000H 3,000
OO0IEXNSX A4l oL EE2Z2 HZE
50«10, 0000H 500
oMERO NSXHRH AUS HE
4002 *20,0000H 8,000
oM XA HZ 50& *20,0000H 1,000
OLDKNA 52 HESE MZ 35&+20,0000H 700




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFIIZA DI} e M
60& x20,0000H 1,200
OFJIZAN BEA A 60& +15,0000H 900
OLEESHEM HH 150& %10, 0000H 1,500
OMNEHESRD DM WA 60& 15,000 0K 900
OQAREE It =E72A HME 60&+15,00004 900
02 =224l 4,600 7,400 A2,800
m Al ZHl S X 4,600
OFXNEZIOY 2Ac/AAHE RIE+
1,000, 000& 1,000
OYREE SEMEZEZ Z2JH RI &2
& 300,000 128 3,600
207 RO ]| 6,200 7,000 A 800
02 ™A I 6,200 7,000 A 800
WEXESAM, SII2E 0/0IX XARs2e T2
= 4,200,000& 4,200
WIS &St T2 F1 2,000,000 2,000
405 XHobF S HI 600 0 600
01 AL ESFH S 600 0 600
WIYSELY OIS A DY
600,000 = 1CH 600
=3I &2 299,651 401,223 A 101,572
101 @124l 243,131 243,723 A 592
04 JIZHHNZ2Z2XNSE+ 243,131 243,723 A 592
mEg= - FX HERA 234,560
o= 6,500% 20 1,600 Al 2+ 208,000
018 - MMEE= 208,000, 000& *7% 14,560
ot ¥ £ 300,000& x20H x23| 12,000
WotAHRAXN WSS 8,571
OoRY(SE3Y, THEIY)
39,2603 «6H «30 7,067
O =S| 39,2603 x6H 42 943
OLE -MMEES= 8,009, 040& 7% 561
201 Let24dH] 56,520 84,000 A 27,480
01 At 22/l 44,700 35,000 9,700
w2 Bt~ E H| 30,500
Oz XM HME 60,000 *708f A 4,200
OHsMIE £ EF HMA 1002 +100,0000H 10,000
O8> -EX3X 82 =2 MH
50,000& 600K 3,000
OSHEFXUSNRA(2AUXNY 5) &g 2
= 76,000& 504 3,800




2N S
I d3

CHelr DEHH A (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET
O=8= -8k 222 WA
100& %30, 0000H 3,000
OMNHEIXNAM &5 ZeH EH 2
250,000 x63| 1,500
O= - - EXUEHE HEZN ==&
5,000,000 5,000
w2ZX s =25 +< 4,750
oZX sYFX=X ctHtE & X
15,000& *200H 3,000
OSANFXE 88 otHE &X
150, 000 & *9 K 1,350
O+ M 50, 000& =80H 400
WU (IAME #2X DEXNERY) 9,450
OFF=4 7,000 «15H x50 5,250
O E | 7,000 =12 x50 4,200
02 23=2gl 11,820 49,000 A 37,180
mE22= & HAl 2,820
o= -FXHs FUE MER
50,0003 «2CH =122 1,200
QAL MRS 100,000& 128 1,200
oALEZHAL HEIH AIEB=
35,000& x12& 420
WAl & ZHl = X bl 9,000
OEHY = X X EEZotolet SXEx
250,000 «30 123 9,000
EHAIAHIA JH e 29,210 491,010 A 461,800
< 20,000
Al 9,210
307 21201 A 20,000 0 20,000
= 20,000
09 2HAHAEXS 20,000 0 20,000
20138 & HAIRzs A2MEH IHES=E XA
20,000,000& 20,000
< 20,000
402 RI2HXt20l ™ 9,210 489,010 A 479,800
01 IZEAI 22X 9,210 489,010 A 479,800
WS 5 AXH XNJ 1,535,000 «6CH 9,210
WSANEs 22 70,000 180,000 A 110,000
401 Al HIZ 201 I 70,000 180,000 A 110,000
01 A& HI 70,000 180,000 A 110,000
WYY EHR LOHA L BNE X
20,000, 000& 20,000
mARSE F0IMEEHOIALY 50,000
OunsAMds i 50,000,000 50,000




2N
X ZH -
L= B

el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
WENEHE 22| 29,150 2,040 27,110
201 LBH2d| 27,450 2,040 25,410
01 At 2t 2l 24,450 1,800 22,650
CIR=SRl R =] 24,450
OXMEDXNM HZ 1,630& *5,00004 33l 24,450
02 3323l 3,000 240 2,760
w223 & HA 3,000
OUYR =&KX 7 & FSUHE HEZM
o sdz 3,000,000& 3,000
202 oddl 1,000 0 1,000
01 = LH 4 1l 1,000 0 1,000
mMuEMY UEHs =+ &S 1,000, 000& 1,000
405 THebH S| 700 0 700
01 AL 2 S FH S| 700 0 700
mMuEXNY U A+ 85 235 7L 700
OXsxse Ex =8 Jtillet +
300,000& = 1CH 300
oOBxHA 2 200, 0002 *24 400
D RIAIZES DS J H KA (UTIS) 1,635,000 0 1,635,000
& 1,635,000
401 Al BIZ 201 8] 1,635,000 0 1,635,000
= 1,635,000
01 A& HI 1,380,000 0 1,380,000
WHMA ZS DS2IHAH N AR (UTIS)
1,380,000, 000& 1,380,000
& 1,380,000
02 2eltl 250,000 0 250,000
(w] 2+2| i 250,000, 000& 250,000
& 250,000
03 AIE =2 0HHI 5,000 0 5,000
m Al E S OHHI 5,000,000& 5,000
& 5,000
A 2 23t 94,400 0 94,400
= 35,000
< 29,700
Al 29,700
402 RI2HXt20l ™ 94,400 0 94,400
= 35,000
< 29,700
Al 29,700
01 QI2tXI2 8 X 94,400 0 94,400
m&XA 2SI LXH XA
94,400,000 94,400

_8_




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 35,000
= 29,700
Al 29,700
WEUHNMAIEE B2 & K1 1,230,940 1,376,000 A 145,060
XF& G A 350,000 300,000 50,000
401 AlEHIZL 2 0HY| 350,000 300,000 50,000
01 Al&H| 350,000 300,000 50,000
m XSS S SIS 2= (SOHH Q)
100,000,000 #2204 X| & 200,000
W2E 2 0HER LEMH S U P2
100,000,000 100,000
mZFE A} CHEA HE(BESEAHAH A
) 50,000, 000& 50,000
WEANS AAE 79,940 60,000 19,940
201 gBt2Ay| 79,940 60,000 19,940
01 AP 2t 2| H| 20,000 0 20,000
m Bt 2| 20,000
ONSASAEZE MIUHNHEH =2 20,000
OXSI, 880 S 45 000& #2702 12,150
Oos=+F 10,0002 x785S 7,850
02 E=22%H| 59,940 60,000 A 60
mEE22=2 2 MA 59,940
OUEANSAEE HIIAMNES2
18,500) 2702 x12& 59,940
HA 3FE 22 300,000 335,000 A 35,000
401 AIEHIZ 201 Y| 300,000 335,000 A 35,000
01 A& H| 300,000 335,000 A 35,000
mHAIA &X 14,000,000 20= 280,000
mMAILHHA L BHAISZE F=H 2l
20,000,000 20,000
ME=yel s 501,000 681,000 A 180,000
201 LBt 9| 1,000 1,000 0
01 AP 22| d| 1,000 1,000 0
m 2Bt~ ZH] 1,000
OBHQC =EE 42 HE S 1,000,000 1,000
206 M = H| 50,000 100,000 A 50,000
01 X2 H| 50,000 100,000 A 50,000
mpnEAMSI, dEJ], HOHIl & XM 2
50,000, 000& 50,000
401 AlEHIZL 2 0HY| 450,000 580,000 A 130,000
01 Al&H| 450,000 580,000 A 130,000




BN DEHH
Hu: MUDESS M
Sl REAMALE 2Y L 2K CERED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
mMPEHM ANES(EXNE E) SAE(SIHA
oF) 100,000,000 x20H K| & 200,000
mPuEASI, BEJ], MO S XS
JEAH Q) 100,000,000 100,000
muUSAMSAIEE A& L WH 100,000,000 100,000
mEAMD AEXNE L 2EH AL A
50,000,000 50,000
FRE 22| &€ X4 127,000 104,800 22,200
2AHAE=XE 77,000 34,800 42,200
201 et | 5,000 4,800 200
01 AP 2t 2] d| 2,000 1,800 200
m] 2Bt~ ZH| 2,000
OMNYEL42 U B2 HE S
2,000,000& 2,000
02 =224 4| 3,000 3,000 0
m Al & ZH| S X Y| 3,000
OZ249F=X& AEEH S Xl 3,000,000 3,000
401 Al HI L 204 HI 72,000 30,000 42,000
01 Al&H| 72,000 30,000 42,000
mMIEAFEINE SAES 30,000,000& 30,000
mLA SSFEXNE A CMH(ES) 42,000
02Y K=& 3,000,000 142 42,000
ARSERF 50,000 0 50,000
401 AlEHIZL 201 Y| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
mEAMX HEeYE =XHE 4 50,000,000 50,000
HHSYPH (WSS D) 209,311 183,608 25,703
ol 2HH| 69,631 64,941 4,690
ol ALY 69,631 64,941 4,690
101 Q124 H| 69,631 64,941 4,690
03 RIHEZZXHE = 69,631 64,941 4,690
mpS#HE JREX 69,631
(OPIR=r=; 1,160,940 x3H +12& 41,794
oaN=3 1,330,940 3% x400% 15,972
(@R PNE =A==  Eay =, 47 ,110& +x3H 16 2,262
O™ &SI 1,160,940 x3H 3,483
Oz A BXH| 70,0003 x 128 x3H 2,520
OWEEXH| 100,000 x 128 x3H 3,600
PIEET 139,680 118,667 21,013
Jl2 &4l 139,680 118,667 21,013




2A NS
M HE2GFH (S )
chelr D123l (&)
SN HH-S(BN) - MBAY - B il HlnE2
201 L2l 44,280 36,347 7,933
01 At 22l 44,280 36,347 7,933
CIRSRl R = 19,080
OJle MRESHI 3,000& *30H ~x12& 1,080
O2NMBE =24 50,000 *30H «12& 18,000
m = &l 7,0003 *30E 10 «12& 25,200
202 O4dl 90,000 76,800 13,200
01 = LHAYI 90,000 76,800 13,200
CIR= g = 220,000& x30H 12 79,200
w2 = 30,0003 +30H +x12& 10,800
203 YR =] 4,200 4,320 A 120
04 EMNSSHRF=EHI 4,200 4,320 A 120
m2A2Y(30Y) 350,000& = 12& 4,200
204 AR A H| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
motE (52 BEX0|2) 100,000& x1H 122 1,200




